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Existent Problems in Border Irrigation Design and Countermeasures
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Abstract: Border irrigation is used widely, but there are many problems in the technique. In order to make
good use of this technique, the problems existing in border irrigation technique and their corresponding
solutions are put forward.
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2 . 49.
h= Do(1- t/to) (4)
f=Ku " 0= bl , (4) :
: h= Do[1- (x/1) ] (5)
o, (5) :
: V= J/(1+ )Dd (6)
13,1 @ ARA A E Application V— (m)
Efficiency) 2.2.1 BAEF Fi= Kot "
Al X 5 tx,
Eu= (A1+ A2+ A3 ° 100% I 1), x :
- x 100% L= to— I (7
n t= bl — bx = bl [1- (x/]) ]
= to[1- (x/l 8
i s of 1= (x/1) ] (8)
A -E i
e e H(x)=Kot™ "= Koo “[1= (x/0) 17" (9
' : (9
132 HEAKEAER o F= Koo "IG (10)
BB IR F E,
e RREEE e G=1- (1= 9/(1+ )
iciency) | —o(1- o)/ (2(1+ 20)) (11)
At
E= 1 (6) (100 (3 .
I= g/ ( /(1+ )Do+ GKoto " (12)
= x 100% (2)
tAo s Es— g Ko, & Do, to
1
1.3.3 EKHIEE Distribution 2.2.2 JUASHB A (12) Ko, o Do,
Efficiency) Ko,
Ei= (1= 55 x 100%) (3)
Do
:Ezl_ ;AZ_
Zi Z Do= (nglS¢"%)>"” (13)
n
o) ,n= 0.04;
n= 0.10; n= 0. 15;
: ,n=10.25
, 1/3 000 , 1/ ,
3 000 4
2.1 ( , )
: = 1.77- 88S0— 0.065 7q (14)
( b< 5 m) , :So 5 q (/s
( b 5 10m) * m) :
( b= 10 m)">* = 1.05- 1.43 (g= 2. 86— 9, So= 1/230- 1/
2.2 1000, , )
x h, 2.3
2.3.1 #AKEHE T

(Y.S.Fox,A.Bishop, 1965) )

, f:Klt_u
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F=m= KoT"" (15) (16), (19),(20), (21)
T= (m/Ko= (16) » : q
m (cem) ;Ko cm/ 20 90 m
min: T min , B=0.1347 - 3.218
2.3.2 Wk , l
(12)  ( 0= T): 3
l= qT/[ /(1+ )Do+ GKoT' "] (17)
(15)
I= qT/[ /(1+ )Do+ Gm] (18) , (16)
. L ’
m s qt= mlL, (1) (16) )
(18) , (16) K cm/ min;
l= mL/[ /(1+ )Do+ mG] (2) . (16),(19),
=L/ /(1+ )Ddm+ 61 = pL (19 (202D ;
: ) (3)
B= [ /(1+ )Ddm+ G (20) ; ( ) ;
(20), L
L= 18 (21)
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